E 0 & AFHE®E B M A

SH ATRMADY
HE: MEHS S4
Sel: HSES N (B9 ®R)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
ATEAAD 6,822,520 5,945,738 876,782
o] 260,344 260,344 0
= 34,043 9,043 25,000
2 6,528,133 5,676,351 851,782
MEHS S4 6,469,946 5,504,386 875,560
p] 260,344 260,344 0
= 34,043 9,043 25,000
2 6,175,559 5,324,999 850,560
HE2s N2 2,370,476 2,329,476 41,000
| 260,344 260,344 0
= 34,043 9,043 25,000
2 2,076,089 2,060,089 16,000
M2 Y coe o8 N 735,000 710,000 25,000
= 25,000 0 25,000
2 710,000 710,000 0
201 2Lur2 A H| 65,000 40,000 25,000
= 25,000 0 25,000
2 40,000 40,000 0
03 & At2 2 bl 65,000 40,000 25,000
Ofte ®= S DUE HSE H2AHS 20,000 0 20,000
= 20,000 0 20,000
Ost&=et =203l 5,000 0 5,000
= 5,000 0 5,000
MEASNEK BSX 104,780 98,780 6,000
307 BI2+0I & 104,780 98,780 6,000
02 I FAAYEE 104,780 98,780 6,000
OMEBISXNEH 4U2HE 2 SINNYS 6,000 0 6,000
seEHSE N 243,000 233,000 10,000
307 BI2+0I & 243,000 233,000 10,000
SRR EEETEE 243,000 233,000 10,000
Ostz==HS3s MY ME L B2
A3 19,000,0009 19,000 9,000 10,000
N 3,203,554 2,368,994 834,560
ZH2sy 2L 439,748 417,788 21,960
101 @121l 143,029 123,469 19,560
YSEEEPETPS 141,149 121,589 19,560
DESSH NS HY M= U B
29 300,008 * 19 « 23] 600 0 600
OgHy IABTE RNz A=Y 18,960 0 18,960
405 TH&HH St 2,400 0 2,400
01 AU 2B H St 2,400 0 2,400
Oged MABTH MO0 7
1,200,008 * 2CH 2,400 0 2,400




SN AEEAYD
I MBHE S4
ool MSAL el (eol:@e)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
SGLUSSFAZXHE 29 1,021,388 1,009,388 12,000
201 YuHe FH| 367,638 345,638 22,000
01 At 2H2l I 120,300 98,300 22,000
OBtLIZ HMSZ =22 Uy 4% DF 15,000 0 15,000
OStLIS 22 ZLE % 52 WIS M 7,000 0 7,000
401 Al HI L 2 T 637,000 647,000 £10,000
01 Al&H 637,000 647,000 £10,000
OBtLIS MUMSS A e S8 Z A 50,000 0 50,000
OStLI8 =ua LUAEY F0je 22IT &
Xl (ZoHOI B Ol Al ) 23 0 0 35,000 35,000
OStLIS oiolg SUAEY H0je 22IT &
X (=04 Ql B Ol AlE) 23 0 0 25,000 25,000
MEHSANLE S 1,066,316 266,316 800,000
401 Al HI L 2 bl 1,066,316 266,316 800,000
01 Al&H 1,062,000 262,000 800,000
OMIABEIY AR I, £ 2 S 20
NE EXBA 30,000 0 30,000
OER2ERY AXXC &) 2 DA 700,000 0 700,000
OMEBHMSAE SN2+ ZF 60,000,000 60,000 50,000 10,000
OHILIAT SX4A, AR %4 Y FATA(
2%) 60,000 0 60,000
SLIS =AMSY 29 88.860 88,260 600
101 Q124 | 600 0 600
04JIAMBERSE S 600 0 600
OSAMSE ALge A mg= £ Y
300,0008 * 1% * 23l 600 0 600
WRES(ATEANAD) 1,222 0 1,222
BHXE 1,222 0 1,222
S I=E =T 1,222 0 1,222
802 Btet 2| Ef 1,222 0 1,222
01 2N X3erez 1,222 0 1,222
02018 JtABA XSS 2FSANY U
By 212 0 212
020198 MEHSHE ALY IIS0IK 8 1,010 0 1,010




